CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR AFTER-SCHOOL TUTORING ACTIVITIES FOR THE 2020-21 SCHOOL YEAR ONLY, \$31.32 PER HOUR (20-21): (10-1500-xxxx-1341-000-0)

> <u>Harvard Park</u> Tennant, Danielle

Southeast High School Lauber, Matt

Lincoln Magnet Stearns, Katherine

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL TUTORING ACTIVITIES FEBRUARY 09 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR, 5 HOURS FOR A TOTAL OF \$156.60: (10-1250-0000-1341-531-1)

Ramsey, Robin

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL TUTORING ACTIVITIES FEBRUARY 23 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Coughlin, Karen	4.00 hours	\$125.28
Dunn, Deborah	3.00 hours	93.96
Jankauski, Abigayle	4.00 hours	125.28
Marvel, Marsha	4.00 hours	125.28
Miller, Evan	4.00 hours	125.28
Peden, Ashley	4.00 hours	125.28
Roher, Kortney	3.00 hours	93.96
Small, Laura	4.00 hours	125.28

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES FEBRUARY 25, 2021, \$31.32 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$39.15 EACH: (10-2210-0000-1341-531-1)

Drennan, Emily	Joyner, Abbie
Etchill, Jamie	Komnick, John
Flesner, Ida	Taylor, Joelyn
Grieme, Nathan	Uptmor, Jena
Holler, Melinda	Williams, Alyson
Johnson, Kassandra	

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 18 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR, 12 HOURS FOR A TOTAL OF \$375.84: (10-1250-0000-1341-531-1)

Mcquality, Dixie

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 23 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR, 9.5 HOURS FOR A TOTAL OF \$297.54: (10-1250-0000-1341-531-1)

Marvel, Marsha

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 23 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR, 11 HOURS FOR A TOTAL OF \$344.52: (10-1250-0000-1341-531-1)

Coughlin, Karen

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 12 HOURS FOR A TOTAL OF \$375.84: (10-1250-0000-1341-531-1)

Killebrew, Sara

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL K-2 PHONICS PROFESSIONAL DEVELOPMENT ACTIVITIES MARCH 10, 2021, \$31.32 PER HOUR, .5 HOURS FOR A TOTAL OF \$15.66 EACH: (10-2210-0000-1341-531-1)

Drennan, Emily

Grieme, Nathan

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 24, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

> Kahl, Lindsay Moore, Lori

Zoll, Alexandra

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL PROFESSIONAL DEVELOPMENT ACTIVITIES MARCH 08, 2021, \$31.32 PER HOUR: (10-2210-0000-1341-531-1)

Drennan, Emily	1.00 hours	\$31.32
Etchill, Jamie	1.00 hours	31.32
Flesner, Ida	0.50 hours	15.66
Grieme, Nathan	1.00 hours	31.32
Holler, Melinda	1.00 hours	31.32
Johnson, Kassandra	1.00 hours	31.32
Joyner, Abbie	0.75 hours	23.49
Taylor, Joelyn	0.50 hours	15.66
Uptmor, Jena	1.00 hours	31.32

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 17 HOURS FOR A TOTAL OF \$532.44: (10-1250-0000-1341-531-1)

Dobron, Mary

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 17.5 HOURS FOR A TOTAL OF \$548.10: (10-1250-0000-1341-531-1)

Kelly, Karen

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 19, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

Baldin, Jennifer Brill

Brillhart, Sarah

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 25, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32 EACH: (10-2210-0000-1341-531-1)

Baldin, Jennifer

Kahl, Lindsay

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 25, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32: (10-1250-0000-1341-531-1)

Cruthis, Douglas

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 37 HOURS FOR A TOTAL OF \$1,158.84: (10-1250-0000-1341-531-1)

Watts, Cheryl

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 6.5 HOURS FOR A TOTAL OF \$203.58 EACH: (10-2210-0000-1341-531-1)

Edwards, Joshua	Sherard, Alexis
Lawson, Ayesha	Warren, Lillian
Lewis, Danielle	

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW TUTORING ACTIVITIES FEBRUARY 22 THROUGH FEBRUARY 24, 2021, \$31.32 PER HOUR, 2 HOURS FOR A TOTAL OF \$62.64: (10-1250-0000-1341-531-1)

Oseland, Mary

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 7 HOURS FOR A TOTAL OF \$219.24: (10-1250-0000-1341-531-1)

Rupcich, Mary Ann

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 15 HOURS FOR A TOTAL OF \$469.80: (10-1250-0000-1341-531-1)

Krofchick, Jeanette

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 23 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR, 13.5 HOURS FOR A TOTAL OF \$422.82: (10-1250-0000-1341-531-1)

Jackson, Tamara

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 19 THROUGH FEBRUARY 26, 2021, \$31.32 PER HOUR, 15 HOURS FOR A TOTAL OF \$469.80: (10-1250-0000-1341-531-1)

Hurley, Kimberly

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL TUTORING ACTIVITIES FEBRUARY 09 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Dold, Jena	1.00 hours	\$31.32
Thompson, Jessica	1.50 hours	46.98

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL TUTORING ACTIVITIES FEBRUARY 04 THROUGH FEBRUARY 16, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Lynch, Kiersten	1.00 hours	\$31.32
Romer, Gina	9.00 hours	281.88
Scott, Kelly	4.00 hours	125.28

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES FEBRUARY 08 THROUGH FEBRUARY 18, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Cotner, Alysen	10.00 hours	\$313.20
Craner, Serena	8.00 hours	250.56
French, Jasmine	4.00 hours	125.28
Graves, Kristina	4.00 hours	125.28
Leininger, Brad	4.00 hours	125.28
Watson, Michael	4.00 hours	125.28

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL TUTORING ACTIVITIES DECEMBER 02 THROUGH DECEMBER 15, 2020, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Anderson, Meredith	4.00 hours	\$125.28
Combs, Sara	4.75 hours	148.77
Herring, Jesse	1.75 hours	54.81
Hunsley-Hunt, Stephanie	2.75 hours	86.13
Powell, Robyn	0.50 hours	15.66

XXVIIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES FEBRUARY 12 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Cotner, Alysen	4.00 hours	\$125.28
Craner, Serena	4.00 hours	125.28
Dempsey, Tracy	6.00 hours	187.92
Fenstermacher, Lori	8.00 hours	250.56
Kinkade, Michael	4.00 hours	125.28
Laub, Jill	2.25 hours	70.47
Lewis, Jill	4.00 hours	125.28
Ogden, Jennifer	4.00 hours	125.28
Watson, Michael	4.00 hours	125.28
Weller, Anne	16.00 hours	501.12

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES FEBRUARY 01 THROUGH FEBRUARY 23, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Bentley, Justin	16.00 hours	\$501.12
Buecker, Steve	12.00 hours	375.84
Glass, Bryan	2.00 hours	62.64
Johnson, Kim	14.00 hours	438.48
March, Scott	42.00 hours	1,315.44

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL TUTORING ACTIVITIES FEBRUARY 01 THROUGH FEBRUARY 25, 2021, \$31.32 PER HOUR: (10-1250-0000-1341-531-1)

Leininger, Brad	4.00 hours	\$125.28
Lopian, Jerry	12.00 hours	375.84
Shores, Tonya	26.00 hours	814.32

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL INTERVENTION/TUTORING ACTIVITIES FEBRUARY 24, 2021, \$31.32 PER HOUR, 6.5 HOURS FOR A TOTAL OF \$203.58: (10-1250-0000-1341-531-1)

Black, Charlotte

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SERVICE CENTER NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 19 THROUGH MARCH 04, 2021, \$31.32 PER HOUR: (10-3700-0000-1243-499-0)

Atalla, Julie	2.50 hours	\$78.30
Butler, Tari	3.00 hours	93.96
Maddox, Angela	2.00 hours	62.64
Meyer, Ellen	4.00 hours	125.28
Monke, Elizabeth	35.25 hours	1,104.03
Wetter, Shannon	18.00 hours	563.76

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I APTT ACTIVITIES FEBRUARY 25, 2021, \$31.32 PER HOUR, 1 HOUR FOR A TOTAL OF \$31.32 EACH: (10-2210-0000-1341-531-1)

Crumrine, Carrie	Ramsby, Anita
Kozar, Shari	Schoedel, William
Mcquillan, Marilou	Spencer, Horazina
Norton, Heather	Swanberg, Michele
Patterson, Jami	Wilburn, Michelle
Price, Jessica	

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 19 THROUGH MARCH 04, 2021, \$31.32 PER HOUR, 35 HOURS FOR A TOTAL OF \$1,096.20: (10-3700-0000-1243-531-1)

Lamsargis, Kathy

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR TITLE I APTT ACTIVITIES FEBRUARY 25, 2021, \$23.36 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$35.04: (10-2210-0000-1341-531-1)

Herbert, Merilyn

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I APTT ACTIVITIES FEBRUARY 25, 2021, \$31.32 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$46.98 EACH: (10-2210-0000-1341-531-1)

Clark, Kara	Murphy, Melissa
Dold, Jena	Niemeyer, Cara
Greenfield, Darrin	Parkinson, Vanessa
Hardy, Angela	Roark, Heather
Langen, Natasha	Short, Erin
Mitchell, Shanna	Thompson, Jessica

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I MATH LEADER ACTIVITIES NOVEMBER 13, 2020 THROUGH FEBRUARY 12, 2021, STIPEND AS INDICATED: (10-2210-0000-1341-531-1)

\$55.25
13.00
32.50
224.25
136.50
123.50
182.00
356.50
263.25
48.75
188.50
195.00
325.00
149.50
87.75
325.00
201.50

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATH LEADER STIPENDS GRADING PERIOD 2 NOVEMBER 13, 2020 THROUGH FEBRUARY 12, 2021, STIPEND AS INDICATED : (10-2210-0000-1341-564-1)

George, Cynthia	\$123.50
Hubbs, Sally	100.75
Padavic, Julie	201.50
Poss, Nichole	188.50

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CURRICULUM COUNCIL MEETING FEBRUARY 25, 2021, \$31.32 PER HOUR: (10-2210-6412-1341-000-0)

Burton, Emily	0.25 hours	\$7.83
Campbell, Melissa	0.25 hours	7.83
Daniels, Sherry	0.50 hours	15.66
Gilmore, Lynn	0.25 hours	7.83
Guikema, James	0.50 hours	15.66
Gully, Roy	0.50 hours	15.66
Hodapp, Brad	0.50 hours	15.66
Jefferson, Mia	0.25 hours	7.83
Johnson, Kassandra	0.25 hours	7.83
Jones, Karen	0.25 hours	7.83
Kramer, Benjamin	0.50 hours	15.66
Laub, Jill	0.50 hours	15.66
Pennington, Susan	0.50 hours	15.66
Rodden, Katelynn	0.25 hours	7.83
Winders, Scott	0.50 hours	15.66